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Itv figvrcs ln t:he norgln lrtd.lcafe
tutl narlcs tor the questlons.

Ansuer all tte qtestiors.

1. (a) Explain the following methods of plane
table srirveying: 2x5=10

(t) Radiation

@ Intersection

(b) What is contour ? ExPlain the
characteristicQ of contours' 10
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(b) To determine the elevation of the .top of
a building, the following observations
were made 5

Instrumert Readlng.on Anglo of Remartr
Strtlon BJ. lhtJ elevrtlol

A 1.456

B r.052 8"12' B.M.=250.480m

stations A and B and the top of the building
are in the same vertical plane. Find the
elevation of tJle top of the building, if the
distance between A and B is 100ra

(c) What is Indirect-ranging ? How will you
carq/ out indirect ranging ? 5
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